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Instructions :
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All questions are compulsory.
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Question Nos. 1 to § are very short answer type questions. Each
question carries 1 mark. Answer should be given in / word or /
sentence.
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Question Nos. 6 to 10 carry 2 marks each. (Word-limit 30 words)
e 11 Y 22 T T T R 3 3 ayraifen € | (y=2-W 509=)
Question Nos. 11 to 22 carry 3 marks each. (Word-limit 50 words)
I3 FURE 23 T 4 3T anefen €1 (IE-HH 70 UK)

Question No. 23 carries 4 marks. (Word-limit 70 words)
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Question Nos. 24 to 26 carry 5 marks each. (Word-limit /00 words)
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Draw clean and labelled diagram wherever necessary.
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What is Coagulation?

fafen aifufsran =1 et st fafag)

Write only equation for Fittig reaction.
IR T Wi i § faerd 9 € 1 2
Alcohol and phenol are soluble in water. Why?
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Draw structural formula of 3-chlorohexanoic acid.
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What is reducing sugar?

2.82 T TS ( STUIfaeh 5599 = 180) 30 UM wiet & yen ¥ 1 39 faera
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2.82 gm of glucose (Molecular Mass = 180) is dissolved in 30 gm of

water. Calculate molarity of the solution.
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CH;COOCH, + H,0 > CH,COOH + CH,0H

Find the molecularity and order of reaction of the following reaction :

CH;COOCH, + H,0 — CH,COOH + CH;OH
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Why halogens are coloured?
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Explain Hoffmann bromamide reaction with equation.
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Why do primary amines have higher boiling point than tertiary
amines?
FaYEE § 3o QSN0 T WEE € 2 U S Edr § Inasy | [1+2=3]
What do you mean by elevation in boiling point? Explain with
the help of graph.
et arfufiman =1 37 a9 W fRa W Fei § 2 e [3]

Explain the dependence of rate of reaction on temperature.
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Write notes on :

(¢) Brownian movement

(b) Protection of colloids
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Explain gravity separation method for the concentration of ore.
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Ozone is a strong oxidizing agent. Explain with chemical equation.
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Explain the following properties of elements of 17th group :

(a) Oxidation state

(b) Electronegativity
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[NiCl, ]~ sTIgr1a &, st [Ni(CO),] Wrgasia 3 =i ? [1%+1%=3]
[NiCl,]?" is paramagnetic while [Ni(CO),] is diamagnetic. Why?

DDT &t W=, [UPAC M 991 & S94ar fafau) [1+1+1=3]

Write the structure, [IUPAC name and one use of DDT.
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Write only chemical equation :
(@) Preparation of phenol from cumene

(b) Preparation of picric acid from phenol

faafar A g faafim C et faw i sravas # 2 379% Teeql e
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Why vitamin A and vitamin C are essential to us? Write their important

sources.
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Write any three differences between thermoplastic and thermosetting

polymer.
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How do antiseptics differ from disinfectants? Explain.
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Explain the following :

(a) Ferromagnetism

(b) Paramagnetism
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Explain the following :
(a) Tetrahedral voids
(6) Doping

WHAN e B W I fae T g e e el w
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Write general electronic configuration of transition elements and
explain their following properties :

(a) Magnetic property

(b) Catalytic property
areraT
OR
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Explain preparation of potassium dichromate and write its ionic

equation with the following :
(@) Iron

) H,S
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Explain the following (write only chemical equation) :

(a)
(b)
(c)
(d)
(e)

Gattermann-Koch reaction
Stephen’s reaction
Rosenmund reaction
Aldol condensation
Cannizzaro reaction
IHAqqar
OR
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What happens when (write only chemical equation)?—

(@)
(b)
(c)
(d)
(e)

Grignard reagent is treated with CO,
Carboxylic acid reacts with alcohol
Acetaldehyde reacts with HCN
Aldehyde reacts with NaHSO,

Acetic acid reacts with Na metal

[1+1+1+1+1=5]
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What is standard hydrogen electrode? Explain with diagram.
T
OR
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What is electrochemical cell? Explain its working with the
help of diagram. '
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